. (a) Complete the table of values for 3x + 2y =6

x =2 -1 0 1 2 3

y 4.5 3 i P

2)
(b) On the grid, draw the graph of 3x + 2y =6
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AF
H
-2
(2)

(c) Find the gradient of the graph of 3x = 2y = 6




17.

5
4
3>TC
g 2
|
-5 4 3 3 4 5
In the diagram A is the point (0, -2),

B is the point (-4, 2),
(" is the point (0, 3).

Find an equation of the line that passes through € and is parallel to AB.

-V




4 On the grid, draw the graph of y = 3x — 2 for values of x from -1 to 3

VoA

v




L4

X
The diagram shows graphs of  y = %.r +2
and 2y+3x=12
(a) Use the diagram to solve the simultaneous equations
)= lx +2
i
2p+3x=12
O b ineiad e o R

(b) Find an equation of the straight line which is parallel to the line y = l.\' +2 and
passes through the point (0, 4). 2




21.

444

Line L

Line L is drawn on the grid.

(a) Work out the gradient of Line L.

Another line, Line M, is parallel to Line L and passes through the point (6, 2).

(b) Find an equation for Line M.

2)
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The graph of the straight line x + 2y = 8 is shown on the grid.

(a) On the grid, draw the graph of y = %-l

(3)
(b) Use the graphs to find estimates for the solution of

x+2y=8




8. On the grid draw the graph of x + y =4 for values of x from -2 to 5

=Y




12. The graphs of the straight lines with equations 3y + 2x = 12 and y = x 1 have been drawn
on the grid.

YA
—8
6
yax -1
4
N
N
2
\3 i 2x 5 12
N
0 D 4 ) { X
N
(a) Use the graphs to solve the simultaneous equations
Iy+2x =12
y=x-1
X onsussrsssis o ussaN SR SR ERS
AT e T
(1
(b) 3Jy+2x>12 y<x-1 x<6

x and y are integers.

On the grid, mark with a cross (X) each of the four points which satisfies all these

3 inequalities.
(1




18. The region R satisfies the inequalities
x2hoyZirxtps6

On the grid below, draw straight lines and use shading to show the region R.

ol
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